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#h31 " 100.0 56.3 50.0 18.8 6.3 6.3 6.3 6.3 125 - - - 125 31.3
24 8 13 2 6 2 1 - - - - - 9
S0~34R| 4000 33.3 54.2 8.3 250 8.3 - 42 - - - - -| 315
23 6 8 3 7 1 - - - 6 - - 3 3
3539|1000 26.1 3438 13.0 304 43 - - -l 2641 - - 13.0 13.0
. 5 - 3 1 2 - - 2 - 1 - - - 2
OBALE 1000 -| 600 200 400 - - 400 -l 200 - - - 400
BRAT
NFRGE(% BREE]
RE | o [HESD[ERCO(RFO | |WE0G 00 X0 [Beom | EoFe (g gEoc (SO0 1L
(A%e Nt (AYe & & 3 OBk |Z& & gsp |
+ 66 27 26 18 18 3 - 1 1 - - 19
100.0 409 39.4 21.3 21.3 45 - 1.5 1.5 9.1 - - 9.1 28.8
208K Z : : : Z _ : : : : : : _ :
1 - - - - - - - - - - - - 1
20~248| 900 - - - - - - - - - - - -| 1000
JRHFE |, 13 9 7 6 5 1 - - - 1 - - - -
#h 7 25~298| 4000 69.2 53.8 462 385 7.7 - - - 7.7 - - - -
23 9 10 8 4 - - - - - - - 4 6
S0~34R| 000 39.1 435 348 174 - - - - - - - 174 26.1
23 7 7 4 7 2 - 1 1 3 - - 1 11
35~39R| 4000 304 304 17.4 304 8.7 - 43 43 13.0 - - 43 418
. 6 2 2 - 2 - - - 2 - - 1 1
OBEE| 000 333 333 - 333 - - - -| 333 - - 16.7 16.7
A By
ARG E(% - BEBEE]
EX) o @ |HEIRD [ARIED BELD |, FErtrs |MEHER7 (KL |REDBE | LOFE (BFNG |[REDC gg?%mﬂq_ A
Wt (A%d ke Z e % OB |2& & may |
2 88 40 47 17 28 7 - 2 4 1 - 5 16
100.0 455 53.4 19.3 31.8 8.0 - 23 45 9.1 1.1 - 5.7 18.2
: 1 - - 1 - - - - - - - - - -
208FH| 1000 - -| 1000 - - - - - - - - -
1 1 1 - - - - - - - - - - -
20~248|  1000| 1000|1000 - - - - - - - - - - -
JEHEEE |, 12 5 4 2 5 - = 1 1 - - - - 2
#5371 25~29%| 1000 417 33.3 16.7 417 - - 8.3 8.3 - - - - 16.7
37 17 19 8 10 1 - - 1 2 1 - 3 1
0~34&| 1000 459 51.4 21.6 270 27 - - 27 5.4 27 - 8.1 29.7
27 12 19 5 11 4 - 1 1 5 - - 2 1
SO~39R| 1000 444 704 185 407 148 - 37 37 18.5 - - 74 37
. 10 5 4 1 2 2 - 1 1 - - - 2
OBEE| 000 50.0 400 10.0 200 200 - - 10.0 10.0 - - - 200
E(2:13 ]
N ARG E(% BREE]
k(i) 2 fx |HEIRD [ARIED BRELD |,y FEHRS | VERGROTE | KL |REDB | LOFE [BFNL |[REDS (%,fg)%‘ﬁ%_ mE
(ANe (ANq (AYe & & 3 OEfk |Z& & gsp |
2 121 51 49 31 21 9 - - 3 17 - - 10 29
100.0 42.1 405 25.6 174 7.4 - - 25 14.0 - - 8.3 24.0
: 1 - 1 - - - - - - - - - - -
208AB| 1000 -| 1000 - - - - - - - - - -
4 1 2 1 1 - - - - - - - - 1
20~248| 090 25.0 50.0 25.0 250 - - - - - - - - 250
JBHEFE | )c ooz 23 12 17 1 2 2 - - - 4 - - 1 2
#h31 ’ 100.0 52.2 739 4738 8.7 8.7 - - - 17.4 - - 43 8.7
47 24 16 1 8 5 - - 2 7 - - 4 10
S0~34R| 000 51.1 34.0 234 17.0 10.6 - - 43 14.9 - - 85 21.3
38 10 1 7 8 1 - - 1 4 - - 4 15
35~39R| 4000 26.3 28.9 18.4 21.1 26 - - 26 10.5 - - 10.5 395
. 8 4 2 1 2 1 - - - 2 - - 1 1
OBEE| 000 50.0 250 12.5 250 12.5 - - - 250 - - 125 125
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REST HREHE. AYREYE £HI/ORK
2l _
AN TRE_E(%-BEBEE]
FRET HEISD |BRIZD |BRITD |4 e (e | X0 [HE0l [EoTe [Bxws (BB (28 ) P
= & = = = (F2FH- | REIE
A%e (AYq (A%e & z % % Ok |C & P
2 117 48 48 36 32 10 3 3 2 13 - - 4 32
100.0 41.0 41.0 308 274 8.5 2.6 26 1.7 11.1 - - 34 274
208K j I I I I I _ I _ I _ I _ I
2 2 2 1 1 1 - - - - - - - -
20~248|  4000| 1000] 1000 50.0 50.0 50.0 - - - - - - - -
BHFFE )0 o 20 9 9 4 5 3 - 1 1 1 - - - 7
gl § 100.0 45.0 45.0 200 25.0 15.0 - 5.0 5.0 5.0 - - - 35.0
30~341% 57 21 22 22 14 2 1 1 1 8 - - 2 15
i 100.0 36.8 386 38.6 246 35 1.8 1.8 1.8 14.0 - - 35 263
29 12 13 7 9 3 2 1 - 3 - B 1 8
35~398| 4000 414 448 24.1 31.0 10.3 6.9 34 - 10.3 - N 34 276
. 9 4 2 2 3 1 - - - 1 - B 1 2
WOBEE| 000 444 222 222 333 11.1 - - - 11.1 - N 111 222
AAR
NFRGE(% BREE]
AR HEIZD |BRIZD |BEIZD |, e (M X0 (50l [ EoTe [wxnn (REoC (28 P,
£ & 1% = = = (f2 %8 | OIS
(A%e Nt W\t & & % % OB |C & Pl
2 104 4 53 20 21 8 4 5 4 9 - - 5 29
100.0 394 51.0 19.2 202 1.1 3.8 48 38 8.7 - - 48 219
: 1 - - - - - - - - - 1
208A®| 1000 - - - - - - - - - - - -|_ 1000
7 3 3 5 - - - 1 - - - - - 1
20~248| 990 429 429 714 - - - 14.3 - - - - - 14.3
BB | e oo 30 15 17 8 6 1 - - - 1 - - 1 6
A 100.0 50.0 56.7 26.7 200 3.3 - - - 33 - - 33 200
30~342% 38 18 22 7 9 7 4 3 3 3 - - 3 10
100.0 474 57.9 18.4 237 18.4 105 7.9 7.9 7.9 - - 7.9 263
22 4 9 - 4 - - 1 - 3 - - 1 8
35~39R| 4000 18.2 409 - 18.2 - - 45 - 13.6 - - 45 364
. 6 1 2 - 2 - - - 1 2 - - - 3
OBEE| 000 16.7 333 - 333 - - - 16.7 333 - - - 50.0
HRHET
ARG E(% - BEBEE]
HRHT 2 t |HEISD BRSO |RFELD |0y FarBals |TEIERIA | REDM (BENH | LOFL |BFMLE (REDC “gg?émm_ A
W\t Nt (AYq z & % 3 DER  |2& & 1%%21 EE
2 42 13 10 7 8 2 1 - - 5 - - 2 10
100.0 31.0 2338 16.7 19.0 4.8 24 - - 11.9 - - 48 2338
208K I I I I I I _ I _ I I I I I
1 1 - - - - - - - - - - - -
20~248&| 4000 | 1000 - - - - - - - - - - - -
=)o U 8 1 3 2 1 - - - - 1 - - 1 3
gl 25~29%| 1000 12.5 375 25.0 12.5 - - - - 12.5 - - 12.5 315
18 6 4 4 5 1 - - - 3 - - - 3
0~34&| 1000 333 222 22.2 2738 5.6 - - - 16.7 - - - 16.7
9 4 3 - 1 1 1 - - - - 1 1
SO~39R| 1000 444 333 - 114 1.1 111 - - 1.1 - - 111 114
. 6 1 - 1 1 - - - - - - - - 3
OBEE] 000 16.7 - 16.7 16.7 - - - - - - - - 50.0
J\IRET BEE
NARBECE%-BREIE]
J\IFRHT 2 4k |HEIRD BRSO |REIZD |40y FarhRas |HEAER7E | REDME (BEDE | LOFE |BFME [REDC (%,fg’%'ﬂ%_ wE
(ANe (ANq (AYe & & i3 3 OEfk |Z& & gsp |
2 42 15 19 9 8 4 - 1 1 9 1 - 2 13
100.0 35.7 452 214 19.0 9.5 - 24 24 214 24 - 48 31.0
208K : I I I I I I ' ' I ' I _ Z
1 1 1 1 - - - - - - - - - -
20~248|  4000| 1000| 1000| 1000 - - - - - - - - - -
JBHEFE | )c ooz 17 6 8 4 4 2 - - - 2 1 - 2 6
gl ’ 100.0 35.3 471 235 235 11.8 - - - 11.8 5.9 - 11.8 353
17 6 7 2 2 1 - 1 1 5 - - - 4
S0~34R| 000 35.3 412 11.8 11.8 5.9 - 5.9 5.9 294 - - - 235
6 2 2 1 1 - - - 1 - - - 3
35~39R| 4000 333 333 16.7 16.7 - - - - 16.7 - - - 50.0
. 1 - 1 1 1 1 - - - 1 - - - -
OBEE| 000 -| 1000| 1000| 1000[ 1000 - - -| 1000 - - - -
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HEFT HREHE. LM REZ2E £HUOXR
E3L:0) .
N ARG E(% BREE]
Sk HEIZD |BRIZD |BRITD | 4 ST | k7 (R EOB B0 |LoTe [EFnn | gEoc [P ) P
£ K 13 = = = (BFEN- | EEE
(AYe nT nT Zé& s % % OEFE  |C & P
2 62 19 21 13 15 3 2 1 3 6 - - 3 22
100.0 306 339 210 24.2 48 3.2 1.6 48 9.7 - - 48 355
: 1 1 1 1 1 - - - 1 - - - -
20BARH|  1000| 1000| 1000 1000 1000 - - -| 1000 - - - - -
4 1 1 - 1 1 1 - - - - - - 2
20~248| 1900 25.0 250 - 250 250 25.0 - - - - - - 50.0
BHFFE )0 o 18 6 7 3 4 - - 1 - - - - 7
#3 § 100.0 333 389 16.7 22.2 - - 56 11.1 - - - - 389
20 6 7 6 4 1 1 - - 3 - - 1 7
30~348| 1000 300 35.0 300 20.0 50 5.0 - - 15.0 - - 5.0 350
16 5 4 3 4 1 - - - 3 - - 1 4
35~398| 4000 313 25.0 18.8 250 6.3 - - - 18.8 - - 6.3 250
. 3 - 1 - 1 - - - - - - - 1 2
HOBEE| 000 - 333 - 33.3 - - - - - - - 33.3 66.7
5%
N R R E[% - BEHEE]
7 HEIZD |BRIZD |BRITD | 4 T |t [ X0 |BE0M | LoTe [ERnn |gEoc [P P
£ e T ot 153 g oL pi DEE |C I (1M |EEE
— — 71 7R 710 — 1%:%:1;[
2 115 4 45 22 35 8 3 - 1 9 - 1 28
100.0 35.7 39.1 19.1 304 7.0 26 - 0.9 78 - 0.9 6.1 243
208K - : Z : Z : : : : : : _ : -
6 1 3 2 2 - - - - - - 1 - 3
20~248| 1000 16.7 50.0 333 333 - - - - - - 16.7 - 50.0
BB | e oo 33 17 17 7 12 2 1 - - 3 - - 2 7
31 100.0 515 51.5 212 36.4 6.1 3.0 - - 9.1 - - 6.1 21.2
49 16 15 7 15 4 1 - 1 6 - - 2 12
S0~348| 1000 32.7 306 14.3 306 8.2 2.0 - 2.0 12.2 - - 4.1 245
23 7 9 6 5 1 1 - - - - - 2 4
35~398| 1000 304 39.1 26.1 21.7 4.3 43 - - - - - 8.7 17.4
. 4 - 1 - 1 1 - - - - - - 1 2
SOBELE] 000 - 250 - 25.0 250 - - - - - - 25.0 50.0
i EHT
ARG E(% - BEBEE]
B EET 2 t |HEISD BRSO |RFELD |0y FERE (TEAERE | REDRE DR | LOFE |[BFWL [REDC f;g?;ﬂm_ wEE
(Akq nt nT " z & % 3 DBk |2& & 1%%21 mEE
2 124 41 43 24 24 9 2 1 - 9 - - 5 45
100.0 331 347 19.4 19.4 73 1.6 08 - 7.3 - - 4.0 36.3
208K _ I _ I _ I I ' I ' I I ' I
2 1 - - - - - - - - - - - 1
20~248| 4000 50.0 - - - - - - - - - - - 50.0
i PRSP 27 11 10 9 8 3 1 - = 1 - - 1 6
i 31 100.0 40.7 37.0 333 29.6 11.1 3.7 - - 37 - - 3.7 222
49 17 21 9 5 3 1 - - 4 - - 1 17
30~34E| 000 347 429 184 10.2 6.1 20 - - 8.2 - - 20 347
39 9 11 6 9 3 - - - 3 - - 2 17
39~ 1000 23.1 28.2 154 23.1 7.7 - - - 7.7 - - 5.1 43.6
. 7 3 1 - 2 - - 1 - 1 - - 1 4
SOBELE] 000 42.9 14.3 - 28.6 - - 14.3 - 14.3 - - 14.3 57.1
triR
NRRG L% - BHEE]
TR 2tk |HEISD BRSO |REILD |0 FERRTE (SRS | REDRE [N | LOFL |BFWL |REDS (%,fg’%'ﬁ%_ wE
(AYe nT nT " & & & 3 OER  |2& & gsp |
2 72 25 27 15 22 3 2 2 - 13 - - 4 17
100.0 34.7 315 208 30.6 4.2 28 28 - 18.1 - - 5.6 236
208 F j Z I Z I Z _ ' _ I I I Z Z
20~241% I I I I I I _ I _ I _ I _ Z
JE B 25~2925 14 7 6 6 5 1 1 1 - 1 - - - 2
#3 § 100.0 50.0 429 42.9 35.7 7.1 7.1 7.1 - 7.1 - - - 14.3
29 11 13 6 9 2 1 1 - 7 - - - 7
30~348| 1000 37.9 448 207 31.0 6.9 34 34 - 24.1 - - - 24.1
22 7 7 3 7 - - - - 5 - - 2 4
35~398| 1000 318 318 13.6 318 - - - - 22.7 - - 9.1 18.2
40l ] ~ ! ~ ! ~ ~ - ~ ~ ~ ~ 2 4
100.0 - 14.3 - 14.3 - - - - - - - 286 57.1
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HKEHT EREHE. ALY REZE

30 B3 D BEK R

FonRE

BOEERR[%]
£ Kk |#L HY RS
2359 2312 44
£ " 100.0 98.0 1.9 0.1
- 822 808 14 -
BiEX = 100.0 98.3 1.7 -
Al 721 706 15 -
PR 100.0 97.9 2.1 -
" 816 798 15 3
HES 100.0 97.8 1.8 0.4
R DEER (%]
£ K |BL HY A EIRAS
2359 1870 468 21
£ " 100.0 79.3 19.8 0.9
T 822 662 153 7
BiEmx |~ 100.0 80.5 18.6 0.9
Al 721 577 141 3
PR 100.0 80.0 19.6 0.4
. 816 631 174 1
HER 100.0 7713 213 1.3

BOEERR(%]
2 K |HL »HY EEE

2359 2312 44
£ " 100.0 98.0 1.9 0.1
EHEFR 124 122 2 -
fT 100.0 98.4 1.6 -
SHFE 162 158 4 -
fT 100.0 97.5 2.5 -
P 82 81 1 -
Rz 100.0 98.8 12 -
L EES 142 141 1 -
i) 100.0 99.3 0.7 -
ESHFL 312 306 6 -
i) 100.0 98.1 1.9 -
246 242 4 -
mamx | 1000 | 984 16 ]
Al 223 219 4 -
BAR 100.0 98.2 1.8 -
135 133 2 -
RET 100.0 98.5 1.5 -
117 112 5 -
/\REET 100.0 95.7 4.3 -
" 138 132 6 -
il 100.0 95.7 43 -
245 241 4 -
% 100.0 98.4 1.6 -
207 201 3 3
il 100.0 97.1 1.4 1.4
4o 226 224 2 -
ek 100.0 99.1 0.9 -

32 I[N _
X DEER (%]
2 & |4l »HY O

2359 1870 468 21
£ #® 100.0 79.3 19.8 0.9
EHEFR 124 103 19 2
i) 100.0 83.1 15.3 1.6
ESHFE 162 131 29 2
i) 100.0 80.9 179 1.2
P 82 62 20 -
L 100.0 75.6 244 -
ESHEFAR 142 112 30 -
i) 100.0 78.9 21.1 -
EEEE 312 254 55 3
i) 100.0 814 176 1.0
Ry 246 201 43 2
BEEHE 100.0 81.7 175 0.8
A 223 177 45 1
BAR 100.0 79.4 20.2 0.4
135 108 27 -
RET 100.0 80.0 20.0 -
117 91 26 -
/\WRET 100.0 778 22.2 -
" 138 105 33 -
Bl 100.0 76.1 239 -
1 245 188 55 2
100.0 76.7 224 0.8
207 148 51 8
il 100.0 715 24.6 3.9
fyis 226 190 35 1
= 100.0 84.1 155 0.4
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RESHT iHREHE. ILYRBZE £50XRE
41 SBEDEZADIXKmE6NAR)
BEDFF~DLIK[%] BEDF7F~DIX(%]
26 |mn ooz |[FEYS ems 26 (mn ooz |[BEUS ems
803 302 458 38 5 803 302 458 38 5
£ " 100.0 37.6 57.0 4.7 0.6 £ " 100.0 37.6 57.0 47 0.6
SHFR 43 12 28 2 1 — 278 96 165 14 3
i 100.0 279 65.1 4.7 2.3 BEmx |7 100.0 345 59.4 5.0 1.1
SHEFR 61 30 28 2 1 Al . 262 104 147 10 1
i 100.0 49.2 459 3.3 1.6 100.0 39.7 56.1 3.8 0.4
P 21 5 13 3 - . 263 102 146 14 1
Rz 100.0 2338 61.9 14.3 - RES 100.0 38.8 55.5 53 0.4
SHEFAR 39 16 20 3 -
AT 100.0 41.0 51.3 7.1 -
ESHFL 114 33 76 4 1
i) 100.0 289 66.7 35 0.9
. 89 36 48 4 1
EiEithX 100.0 40.4 53.9 45 1.1
Al 71 31 38 2 -
BAR 100.0 437 53.5 28 -
58 20 36 2 -
RET 100.0 345 62.1 34 -
44 17 25 2 -
/\REET 100.0 38.6 56.8 45 -
" 49 22 22 5 -
BRI 100.0 44.9 449 102 -
1 80 32 46 1 1
= 100.0 40.0 575 1.3 13
62 27 30 5 -
i.ﬁ
il 100.0 435 484 8.1 -
yis 72 21 48 3 -
e 100.0 29.2 66.7 42 -
f942 MNEMBBFRAEFM->CLS(B~4NAR)
] : -
2 K [IEn [AYAV-RNE :JEIE=3 £ K [lEn [AYAV-ENE :JEIE=S
813 509 302 2 813 509 302 2
Eal 100.0 62.6 37.1 0.2 £ " 100.0 62.6 37.1 0.2
EHEFR 39 23 16 - r—_— 283 173 109 1
i) 100.0 59.0 41.0 - EEmx |7 100.0 61.1 38.5 0.4
SHEFEm 43 25 17 1 All i 245 151 94 -
i) 100.0 58.1 39.5 2.3 100.0 61.6 384 -
P 33 20 13 - N 285 185 99 1
Rz 100.0 60.6 39.4 - HES 100.0 64.9 34.7 0.4
SEFR 58 37 21 -
i) 100.0 63.8 36.2 -
aEFE 110 68 42 -
i) 100.0 61.8 38.2 -
82 50 32 -
mpx |7 1000| 610|390 -
B 89 57 32 -
BAR 100.0 64.0 36.0 -
36 24 12 -
AT 100.0 66.7 33.3 -
38 20 18 -
e 100.0 52.6 474 -
. 45 29 16 -
BRI 100.0 64.4 35.6 -
90 62 28 -
5 100.0 68.9 31.1 -
80 58 21 1
SErEr 100.0 72.5 26.3 1.3
4o 70 36 34 -
Hesz 100.0 51.4 48.6 -
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HKEHT EREHE. 24 R

=2
"z

fH43 MY IFTDEEA LIS (3~4ANAR, 35ER)

R KEI/RNRK

AAYDFDEEMNLB[%] ADYDTDEMALS[%]
= |fErEdLy = [fErEdL
=N NI A BLE 2 E0 F:JEIR=S 2 &K |IEn AT S i F:JEIES
1556 1188 101 263 4 1556 1188 101 263 4
£ " 100.0 76.3 6.5 16.9 0.3 £ " 100.0 76.3 6.5 16.9 0.3
SHFR 81 64 2 15 T 544 418 38 87 1
i 100.0 79.0 25 185 BEmx |7 100.0 76.8 7.0 16.0 0.2
HHFE 101 73 12 16 - il . 459 368 21 69 1
g 100.0 72.3 1.9 15.8 - 100.0 80.2 4.6 15.0 0.2
P 61 45 7 9 - N 553 402 42 107 2
Rz 100.0 73.8 115 14.8 - RES 100.0 72.7 7.6 19.3 0.4
SHEFAR 103 80 8 15 -
AT 100.0 71.7 7.8 14.6 -
ESHFL 198 156 9 32 1
i 100.0 78.8 45 16.2 0.5
. 157 128 6 22 1
BEEHE 100.0 815 3.8 14.0 0.6
Al 152 119 6 27 -
BAR 100.0 78.3 3.9 17.8 -
77 63 4 10 -
RET 100.0 81.8 5.2 13.0 -
73 58 5 10 -
/\REET 100.0 79.5 6.8 13.7 -
L 89 69 5 14 1
il 100.0 715 5.6 15.7 1.1
1 165 115 16 34 -
100.0 69.7 9.7 20.6 -
145 114 6 24 1
il 100.0 78.6 4.1 16.6 0.7
fyis 154 104 15 35 -
= 100.0 67.5 9.7 22.7 -
44 HHYDHOEEENLS (3FER)
AAYD T DEFREMALS(%) YD TDEHEMALVS(%)
S |fEEBL = [fErEdLy
£ |1 VLR TR |EEE £ & |lF LLz 2R |EEE
743 325 364 54 - 743 325 364 54 -
Eal 100.0 437 49.0 7.3 - £ " 100.0 437 49.0 7.3 -
EHEFR 42 19 22 1 - e 261 106 141 14 -
i 100.0 452 524 2.4 - BiEmx |7 100.0 406 54.0 5.4 -
SHEFEm 58 24 32 2 - Al i 214 84 111 19 -
i 100.0 414 55.2 34 - 100.0 39.3 51.9 8.9 -
P 28 1 13 4 - N 268 135 112 21 -
Rz 100.0 393 46.4 14.3 - HES 100.0 50.4 418 7.8 -
SEFR 45 16 28 1 -
i 100.0 35.6 62.2 2.2 -
aEFE 88 36 46 6 -
i 100.0 409 523 6.8 -
75 23 47 5 -
BiEthR RET 100.0 307 62.7 6.7 -
ol 63 29 27 7 -
BAR 100.0 46.0 429 11.1 -
41 19 20 2 -
AT 100.0 463 48.8 49 -
35 13 17 5 -
e 100.0 371 48.6 14.3 -
o 44 20 20 4 -
BRI 100.0 455 455 9.1 -
1 75 34 36 5 -
= 100.0 453 48.0 6.7 -
65 28 29 8 -
SErEr 100.0 4341 446 12.3 -
fyis 84 53 27 4 -
= 100.0 63.1 32.1 48 -
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RESHT iHREHE. ILYRBZE £50XRE
f45 FLEZ1B2BMUL#5 (3ER)
TLEZ1B2BRUEAS(%]
= S T (A [AYAV-EE {1k
743 244 493
£ " 100.0 32.8 66.4 0.8
ERTR 42 15 27 -
RT 100.0 35.7 64.3 -
BT 58 15 41 2
fT 100.0 25.9 70.7 34
p 28 2 24 2
iRz 100.0 7.1 85.7 7.1
EEEES 45 17 28 -
fT 100.0 378 62.2 -
SEFI 88 30 58 -
fT 100.0 34.1 65.9 -
R 75 24 50 1
BiE#HEX 100.0 32.0 66.7 1.3
A 63 23 40 -
BAR 100.0 36.5 63.5 -
1 18 23 -
RET 100.0 43.9 56.1 -
35 15 20 -
/\HEET 100.0 42.9 57.1 -
. 44 14 29 1
B 100.0 31.8 65.9 2.3
= 75 27 48 -
- 100.0 36.0 64.0 -
65 19 46 -
SErEr 100.0 29.2 70.8 -
e 84 25 59 -
ik 100.0 29.8 70.2 -
46 R<IHRER (3R
AINE R(%)
£ K | [RYAV-EE {1k
743 251 490
£ 100.0 33.8 65.9 0.3
EEFR 42 8 34 -
fT 100.0 19.0 81.0 -
BT 58 19 39 -
fT 100.0 32.8 67.2 -
p 28 9 19 -
iR 100.0 32.1 67.9 -
EEEES 45 17 28 -
fT 100.0 37.8 62.2 -
SEFI 88 32 56 -
fT 100.0 36.4 63.6 -
75 29 46 -
x| FE 1000| 387|613 -
A 63 23 40 -
BAR 100.0 36.5 63.5 -
4 9 32 -
HRET 100.0 22.0 78.0 -
35 8 27 -
/\VBHT 100.0 22.9 774 -
. 44 16 28 -
B 100.0 36.4 63.6 -
15 75 27 47 1
100.0 36.0 62.7 1.3
65 23 42 -
SErRr 100.0 35.4 64.6 -
e 84 31 52 1
iR 100.0 36.9 61.9 1.2
46 R<HER (3@E)
AINE (%)
£ K| [RYAV-EE 1P
743 251 490 2
£ 100.0 33.8 65.9 0.3
= 261 85 176 -
BiEthR =S 100.0 32.6 67.4 -
A 214 69 145
PR 100.0 32.2 67.8 -
- 268 97 169 2
HES 100.0 36.2 63.1 0.7

f45 TLEZ1H2BMUE#5 (3EIR)

TLEZ 1B 2B EHB(%)
=7 IR WhE | EEE
743 244 493
£ " 100.0 32.8 66.4 0.8
e 261 79 178 4
EiEHE |7 100.0 303 68.2 15
Al 214 80 133 1
PR 100.0 374 62.1 0.5
— 268 85 182 1
HES 100.0 31.7 67.9 0.4

49 D FIZFEbhnEHTRICINH 2B (3FEE)

BOFCELANLENNHS
=B N A [AYAV-EE :{rE-3
743 593 140 10
£ " 100.0 79.8 18.8 1.3
E:EE 42 36 6 -
i) 100.0 85.7 14.3 -
BT 58 44 12 2
i) 100.0 75.9 20.7 34
P 28 21 6 1
L 100.0 75.0 21.4 3.6
ERaA 45 36 8 1
i) 100.0 80.0 17.8 2.2
EL:E 88 68 19 1
i) 100.0 7713 21.6 1.1
Py 75 62 12 1
BlEX 100.0 82.7 16.0 1.3
3l 63 50 13 -
BAR 100.0 79.4 20.6 -
4 32 9 -
RET 100.0 78.0 22.0 -
35 30 5 -
/\WBET 100.0 85.7 143 -
i 44 37 7 -
Gl 100.0 84.1 15.9 -
1 75 57 17 1
100.0 76.0 22.7 1.3
65 52 1 2
SErHT 100.0 80.0 16.9 3.1
s 84 68 15 1
iz 100.0 81.0 17.9 1.2
149 1&0)%!:%10%%[353&6[:_711]1’)6(3»‘-7:&_',%)
HmOFITEFLbANIEGESCINDHS
£ K |[EL [AYAV-EE :{FE-
743 593 140 10
£ " 100.0 79.8 18.8 1.3
— 261 205 51 5
EiEE |7 100.0 785 19.5 1.9
7l 214 174 39 1
PR 100.0 81.3 182 05
- 268 214 50 4
HES 100.0 79.9 18.7 1.5
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HKEEHT EREHE. JLYERZ2E KHIDIR
50 BMTLILF—ISDVTRANY (3~4N AR, TEEMAR) 51 LDEGIEUREC/IELERS) (3FI)_

BU7LUILE—=DD TR MI(%) DEAEREPINEAREER(%]
£ K |[FW [AYAV-EE {1k =0 S I = (A [AVAV-EE : {FE-
1616 240 1337 39 743 334 397 12
£ " 100.0 14.9 82.7 24 £ " 100.0 45.0 53.4 1.6
E:EE 82 9 71 2 EEFR 12 14 28 -
3 100.0 11.0 86.6 24 ) 100.0 333 66.7 -
BT 104 20 83 1 BT 58 28 28 2
33 100.0 19.2 79.8 1.0 ) 100.0 483 483 34
P 54 ) 45 1 . 28 9 18 1
iRz 100.0 14.8 833 1.9 L 100.0 32.1 64.3 3.6
EEEES 97 17 75 5 EEEZS 45 24 20 1
33 100.0 175 713 5.2 ) 100.0 53.3 444 2.2
SEFI 224 35 182 7 EEEZ 88 37 50 1
BT 100.0 15.6 81.3 3.1 ) 100.0 420 56.8 1.1
. 171 22 146 3 . 75 28 46 1
BiE#HEX 100.0 12.9 85.4 1.8 BiEthX 100.0 37.3 61.3 1.3
A 160 19 135 6 Al 63 32 30 1
BAR 100.0 11.9 84.4 3.8 BAR 100.0 50.8 476 1.6
94 16 78 - 4 18 23 -
RET 100.0 17.0 83.0 - RET 100.0 439 56.1 -
82 9 71 2 35 14 20 1
/\HEET 100.0 11.0 86.6 24 /\WEET 100.0 40.0 57.1 2.9
- 94 18 75 1 = 44 19 25 -
B 100.0 19.1 79.8 1.1 il 100.0 432 56.8 -
i 170 27 140 3 i 75 34 39 2
- 100.0 15.9 824 1.8 . 100.0 453 52.0 2.7
142 21 115 6 65 33 31 1
SErEr 100.0 14.8 81.0 42 SErET 100.0 50.8 471 1.5
e 142 19 121 2 o 1a 84 44 39 1
ik 100.0 134 85.2 1.4 R 100.0 52.4 46.4 1.2
50 BYMTFLILE—ISOVWTEMANY B~4nA R, 1Z6NAR) 51 DELZLEUREBR/INBEHERE) SKE)
EM7LUILE—IO0 TN %] DA ERECINEBLEEE(%
£ & [[Fun WWhZ  [EEE £ K [(FL WX [EEE
1616 240 1337 39 743 334 397 12
£ " 100.0 14.9 82.7 24 £ " 100.0 45.0 53.4 1.6
— 561 89 456 16 — 261 12 144 5
BiEx = 100.0 15.9 81.3 2.9 Bl & 100.0 429 55.2 1.9
A 507 66 430 11 R 214 92 119 3
R 100.0 13.0 84.8 2.2 R 100.0 430 55.6 1.4
N 548 85 451 12 — 268 130 134 4
HES 100.0 15.5 823 2.2 HES 100.0 485 50.0 1.5

R52 DERACE(3~4nHR, 16 AR. 3KIR)
DERACE(% BREE)

2460 |rimk | 2B 58 pmp

i e
RN - Fetm %gtd) g O |[EEE
BB 17 718

2 2359 915 144 72 90 384 1072
100.0 38.8 6.1 3.1 3.8 16.3 454
EEEEF 124 48 6 3 2 21 57
fT 100.0 38.7 48 24 1.6 16.9 46.0
BT 162 63 8 7 5 22 75
RT 100.0 38.9 4.9 43 3.1 13.6 46.3
o 82 24 3 1 5 12 43
Rz 100.0 29.3 3.7 1.2 6.1 14.6 52.4
EEEEZS 142 65 14 7 7 18 58
RT 100.0 45.8 9.9 4.9 4.9 12.7 40.8
EE:EF4 312 120 19 12 14 53 141
RT 100.0 385 6.1 3.8 45 17.0 45.2
hAT 246 96 15 5 11 51 104
EJEHLIIZ 100.0 39.0 6.1 2.0 45 20.7 423
Al 223 93 15 8 9 43 36
BAR 100.0 41.7 6.7 36 4.0 19.3 38.6
135 43 8 3 3 16 78
AT 100.0 31.9 5.9 2.2 2.2 11.9 57.8
117 45 5 3 6 16 51
/\WEET 100.0 385 43 2.6 5.1 13.7 436
- 138 56 9 7 3 27 57
100.0 40.6 6.5 5.1 2.2 19.6 413
. 245 89 12 3 3 38 124
100.0 36.3 4.9 1.2 3.3 15.5 50.6
207 89 17 10 11 36 83
SErE 100.0 43.0 8.2 48 5.3 174 40.1
e 226 84 13 3 6 31 115
100.0 372 5.8 1.3 2.7 13.7 50.9

52 hEEAECE(B~4N AR 1E6NAR. 3FmE)

DA E(% BREE]
. BiEgE [XB/ % s
2 |TEY? |- |wmin (BEFM 2om  |mEs
= L& |BEE =

& 2359 915 144 72 90 384 1072
100.0 38.8 6.1 3.1 3.8 16.3 454
o 822 320 50 30 33 126 374
BiER|= 100.0 38.9 6.1 36 40 15.3 455
il ik 721 277 43 19 29 126 319
100.0 38.4 6.0 26 40 17.5 44.2
- 816 318 51 23 28 132 379
HES 100.0 39.0 6.3 2.8 34 16.2 46.4
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RESHT iHREHE. ILYRBZE £50XRE
53 HEDOFROEHEF
EEI VLR EES €D
HE(F : BELTO ~ e
24 (FFM g NE gpas geEo 100 0T on (mEs
n)< ) st ey L
% 2359 1181 695 281 3 62 Z 14 71 13
100.0 50.1 295 11.9 0.1 2.6 0.2 0.6 3.0 2.0
— 822 401 250 94 = 26 1 2 29 19
BiEmx | = 100.0 4838 304 11.4 - 3.2 0.1 0.2 35 23
] sk 721 372 206 90 2 18 1 3 20 9
100.0 51.6 286 12.5 03 25 0.1 0.4 2.8 1.2
- 816 408 239 97 1 18 2 9 22 20
HES 100.0 50.0 293 11.9 0.1 2.2 0.2 1.1 2.7 25
Fi5s A%OEROHEMIET ]
HEDE EOEREF %)
HEE ; BELED [ o |mweiom
24 [ZFRlepE AR \ppes onEo (1777 B 2on |mEs
B3 N A ESTS A
) Pt
% 2359 1181 695 281 3 62 Z 14 71 8
100.0 50.1 295 11.9 0.1 2.6 0.2 0.6 3.0 2.0
E:EE 124 60 39 17 - 4 - - 2 2
3 100.0 484 315 13.7 - 3.2 - - 1.6 1.6
BT 162 73 47 27 - 5 - - 6 4
BT 100.0 45.1 29.0 16.7 - 3.1 - - 37 25
P 82 49 21 6 = 1 - - 2 3
iRz 100.0 59.8 25.6 7.3 - 1.2 - - 24 37
EEEES 142 75 42 11 - 4 1 1 5 3
3 100.0 52.8 29.6 7.7 - 2.8 0.7 0.7 35 2.1
SEFI 312 144 101 33 - 12 - 1 14 7
BT 100.0 462 324 10.6 - 338 - 0.3 45 22
. 246 141 67 18 1 8 - - 8 3
BiEHK 100.0 57.3 272 73 04 3.3 - - 33 1.2
A 223 108 68 34 7 - 1 3 2
BAR 100.0 484 305 15.2 3.1 - 0.4 1.3 0.9
ST 135 56 4 26 - 1 - 2 6 3
| 100.0 415 304 19.3 - 0.7 - 1.5 44 2.2
117 67 30 12 1 2 1 - 3 1
/\HEET 100.0 57.3 25.6 10.3 0.9 1.7 0.9 - 2.6 0.9
- 138 75 4 12 1 1 1 1 3 3
100.0 54.3 29.7 8.7 0.7 0.7 0.7 0.7 2.2 2.2
. 245 124 77 18 - 8 1 4 6 7
100.0 50.6 314 7.3 - 33 04 1.6 24 2.9
207 100 58 26 - 5 - 4 7 7
SErRr 100.0 483 28.0 12.6 - 24 - 1.9 34 34
sie 226 109 63 41 - 4 - - 6 3
= 100.0 482 279 18.1 - 1.8 - - 2.7 1.3
54 RPOEFR(B~4MAR. 1%§6b‘ﬁJh. 'fv'. 156 BTISKSERELH(3~4nAR. 16N AR, 3F%IE)
R R(%] B CIS{ZZERLSH(%
Koo aam«bo &mg FELL | gy VOB [BABEC | pr iy e
23 S N AN A Gl Ll - 2% iz BLAL |HEE
2359 1361 814 101 51 32 2359 22 537 1794
£ " 100.0 57.7 345 43 2.2 1.4 £ " 100.0 0.9 228 76.0 0.3
EEFR 124 72 44 3 2 3 EEFR 124 - 24 100 -
3 100.0 58.1 355 24 1.6 24 ) 100.0 - 19.4 80.6
BT 162 94 52 7 4 5 BT 162 - 37 125 -
BT 100.0 58.0 32.1 43 25 3.1 ) 100.0 - 228 71.2 -
P 82 44 32 4 2 - P 82 2 13 67 -
R 100.0 53.7 39.0 49 24 - L 100.0 24 15.9 81.7 -
EESA 142 78 54 5 4 1 EESA 142 1 31 110 -
100.0 54.9 38.0 35 2.8 0.7 ) 100.0 0.7 21.8 715 -
RS 312 173 1 15 10 3 32 312 2 73 237 -
100.0 55.4 35.6 48 3.2 1.0 ) 100.0 0.6 234 76.0 -
e 246 152 83 7 2 2 . 246 1 51 194 -
BiEHK 100.0 61.8 337 2.8 0.8 038 BiEthx 100.0 04 20.7 78.9 -
7 223 120 83 11 7 2 3l 223 4 65 154 -
BAR 100.0 53.8 372 49 3.1 0.9 BAR 100.0 1.8 29.1 69.1 -
135 73 52 8 2 - 135 2 31 102 -
RET 100.0 54.1 385 5.9 1.5 - RET 100.0 1.5 23.0 75.6 -
17 72 40 3 1 1 117 - 36 80 1
/\VBHT 100.0 61.5 342 2.6 0.9 0.9 /\WEET 100.0 - 30.8 68.4 0.9
. 138 80 50 5 1 2 - 138 1 34 103 -
B 100.0 58.0 36.2 36 0.7 1.4 il 100.0 0.7 24.6 74.6
. 245 150 75 12 6 2 . 245 4 47 194 -
100.0 61.2 30.6 49 24 0.8 100.0 1.6 19.2 79.2 -
207 117 69 8 3 10 207 - 43 155 1
SErRr 100.0 56.5 333 3.9 14 48 SErAT 100.0 - 232 74.9 1.9
fie 226 136 69 13 7 1 e 226 5 47 173 1
= 100.0 60.2 305 5.8 3.1 04 = 100.0 2.2 208 76.5 04
54 RFOER(B~4nAR, 1"15'&(575‘)51“,~ 7) 156 BTIKSERELE(3~4n AR 1 f&Gﬁ\F]'E' 3R
R ﬁ'ﬁ[%] ERYY %
O [BR |FEAE (LB | gy s WOBE H#/zﬁ&t; e |
2% |Tor |ooa 2 |Eshe (L |mms 2% |z BLAEL |REE
2359 1361 814 101 51 32 2359 22 537 1794
£ 100.0 57.7 345 43 2.2 1.4 & " 100.0 0.9 228 76.0 0.3
—— 822 461 293 34 22 12 —— 822 5 178 639 -
BEHK 100.0 56.1 35.6 4.1 2.7 1.5 BiEthx 100.0 0.6 21.7 71.7 -
7l . 721 417 258 29 12 5 5l sk 721 7 183 530 1
100.0 57.8 35.8 40 1.7 0.7 100.0 1.0 254 73.5 0.1
N 816 483 263 38 17 15 — 816 10 176 625 5
HES 100.0 59.2 322 47 2.1 1.8 HES 100.0 1.2 21.6 76.6 0.6
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HKEEm diRELE. Y RE2ER
57 BETIKESOBRT BHAEM>TLS (B3~an AR,

1m6A AR, 3®E)

FHonRE

BCUKCDRERT A %DV

fi158 MEDELLORFHINR (3~4nAR,. 1R6NAR. 3R

£ K |[Fn [AYAV-EE {1k
559 483 62 14
£ " 100.0 86.4 111 25
EEER 24 24 = -
fT 100.0 | 1000 - -
BT 37 32 4 1
fT 100.0 86.5 10.8 2.7
P 15 14 1 -
iRz 100.0 93.3 6.7 -
ELEETS 32 30 2
fT 100.0 93.8 6.3 -
SEFI 75 64 8 3
fT 100.0 85.3 10.7 40
52 45 6 1
BiE#HX il 100.0 86.5 11.5 1.9
A 69 56 8 5
BAR 100.0 81.2 11.6 7.2
33 28 5 -
RET 100.0 84.8 15.2 -
36 32 3 1
/\HEET 100.0 88.9 8.3 2.8
" 35 30 4 1
B 100.0 85.7 11.4 2.9
51 45 6 -
5 100.0 88.2 118 -
43 43 5 -
SErEr 100.0 89.6 10.4 -
e 52 40 10 2
ek 100.0 76.9 19.2 38

157 BTISKEDBRT DA EEMO>TLS(3~4nAR.

1E6M AR, 3RIR)
BCILEDERT A 5eMoCLVD
=3 PR LWOE | EEE
559 483 62 14
£ " 100.0 86.4 111 25
Jr— 183 164 15 4
BEHR |7 100.0 89.6 8.2 2.2
B 190 161 22 7
PR 100.0 84.7 11.6 3.7
- 186 158 25 3
HES 100.0 84.9 134 1.6

BaEDBLLDE AR %]
REPE [OODE |4 OREL [ REEL |
2H ks Uhss BB | 0 RIS
% 2359 169 495 1444 212 34
100.0 7.2 21.0 61.2 9.0 1.4 0.2
BT 124 9 27 79 6 3 -
) 100.0 7.3 21.8 63.7 48 24
BT 162 20 36 97 9 - -
BT 100.0 12.3 22.2 59.9 5.6 - -
. 82 12 31 35 4 = =
L 100.0 146 37.8 427 49 - -
EEEZS 142 14 30 81 16 1 -
) 100.0 9.9 21.1 57.0 11.3 0.7 -
SHEFI 312 23 55 191 34 9 -
) 100.0 7.4 17.6 61.2 10.9 2.9 -
. 246 20 84 122 17 3 =
BEHBRE 100.0 8.1 34.1 49.6 6.9 1.2 -
Al 223 15 34 152 18 4 -
BAR 100.0 6.7 15.2 68.2 8.1 1.8 -
135 6 25 83 17 3 1
RET 100.0 44 18.5 61.5 12.6 2.2 0.7
117 4 19 82 12 - =
/\WEET 100.0 34 16.2 70.1 10.3 - -
- 138 6 27 92 10 3 -
100.0 43 19.6 66.7 72 2.2 -
i 245 15 13 152 24 5 1
. 100.0 6.1 19.6 62.0 9.8 2.0 0.4
207 11 33 136 23 2 2
SErET 100.0 5.3 15.9 65.7 11.1 1.0 1.0
bt 226 14 46 142 22 1 1
= 100.0 6.2 204 62.8 9.7 04 0.4
158 MAEDESLOREFNKR(3~4MAR. 1HZ6MN AR, 3FKR)
RaEDBLLDE AR L%]
KREPE [OODE |- OREL (REEL |
é 1$ L}h‘“&é L)ﬁ“&é EJ«E l'\ l/\ II\\EE
% 2359 169 495 1444 212 34
100.0 7.2 21.0 61.2 9.0 1.4 0.2
— 822 78 179 483 69 13 -
Bl & 100.0 9.5 21.8 58.8 8.4 1.6 -
R sk 721 45 162 439 64 10 1
100.0 6.2 225 60.9 8.9 1.4 0.1
- 816 46 154 522 79 11 1
HES 100.0 5.6 18.9 64.0 9.7 1.3 05
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HKEHT EREHE. 24 R

f59 HEDLHFDFHF(3~4NAR, 186N AR, 3ER)

PE KFHURRE

DD EDHF(%]

Ebied | PP .
£k |BRiF PORIF WAL AL KB | EEE
2 1 2359 1042 792 357 127 23 18
100.0 442 33.6 15.1 5.4 1.0 08
THEFR 124 54 54 11 2 2 1
i 100.0 435 435 8.9 1.6 1.6 0.8
SEFE 162 84 45 21 11 - 1
i 100.0 51.9 27.8 13.0 6.8 - 0.6
P 82 36 27 15 3 1 -
IR 100.0 439 329 18.3 3.7 1.2 -
TEFER 142 Al 40 22 8 - 1
i 100.0 50.0 28.2 15.5 5.6 - 0.7
SEFIL 312 134 98 52 22 4 2
i) 100.0 429 31.4 16.7 71 1.3 0.6
T 246 113 79 37 13 3 1
EiEithX 100.0 459 32.1 15.0 5.3 1.2 04
Al 223 90 85 35 10 3 -
BAR 100.0 404 38.1 15.7 45 1.3 -
135 60 51 18 4 1 1
RET 100.0 444 37.8 13.3 30 0.7 0.7
17 55 33 26 3 - -
/\WEET 100.0 47.0 28.2 22.2 2.6 - -
- 138 56 56 18 6 1 1
100.0 406 40.6 13.0 43 0.7 0.7
- 245 101 88 32 18 2 4
100.0 412 35.9 13.1 7.3 0.8 1.6
207 88 67 31 15 1 5
i 100.0 425 324 15.0 7.2 0.5 24
i 226 100 69 39 12 5 1
= 100.0 442 30.5 17.3 5.3 2.2 0.4
f59 BIEDLEDHAF(3~4n AR, 1%6N AR, 3F!E)
BEDLEDRAF(%]
EBDEH[104kL N e
£ K |BiF PPREF R KA | EEE
2 1k 2359 1042 792 357 127 23 18
100.0 442 33.6 15.1 5.4 1.0 0.8
— 822 379 264 121 46 7 5
BEHR |7 100.0 46.1 32.1 14.7 5.6 0.9 0.6
ol ik 721 318 248 116 30 7 2
100.0 441 344 16.1 42 1.0 0.3
- 816 345 280 120 51 9 1
HES 100.0 423 343 14.7 6.3 1.1 1.3
61 RETHo-CL(3ER)
RBE Chol- L% BREE]
LoFoL RS HY(2 AR | REBMEE [RENG | FELO |FELER Whi
2 jEEAR N [EREEL (BE5R ERTE | DESSL(LEES | | (REE
Hot= = |THHLE [hot (Bt 12 Aol s &
2 1616 15 46 23 2 198 12 6 1353 23
100.0 0.9 2.8 14 0.1 12.3 0.7 04 83.7 1.4
E:EE 82 - 1 - - 10 - - 7 1
i 100.0 - 12 - - 12.2 - - 86.6 1.2
BT 104 - - 1 - 9 1 - 94 -
i 100.0 - - 1.0 - 8.7 1.0 - 90.4 -
P 54 2 1 1 - 4 - - 47 1
R 100.0 3.7 19 1.9 - 74 - - 87.0 1.9
TEFTA 97 1 4 1 - 13 - - 82 -
i 100.0 1.0 4.1 1.0 - 13.4 - - 845 -
Ef:E T3 224 1 11 5 - 28 4 - 183 3
100.0 0.4 4.9 2.2 - 12.5 1.8 - 81.7 1.3
T 171 1 5 1 - 19 1 1 145 3
BE#X 100.0 0.6 2.9 0.6 - 11.1 0.6 0.6 84.8 1.8
Al 160 - 3 3 - 24 1 2 132 -
BAR 100.0 - 1.9 1.9 - 15.0 0.6 1.3 825 -
94 - 2 2 - 13 2 - 76 3
RET 100.0 - 2.1 2.1 - 13.8 2.1 - 80.9 3.2
82 3 2 2 1 13 1 - 63 3
/\VBHT 100.0 3.7 24 2.4 12 15.9 12 - 76.8 3.7
i 94 4 4 1 - 16 - 1 75
B 100.0 43 43 1.1 -l 170 - 1.1 79.8 2.1
i 170 1 6 3 - 19 1 1 142 4
100.0 0.6 3.5 1.8 - 11.2 0.6 0.6 835 2.4
142 1 4 - - 15 - - 124 1
SErRr 100.0 0.7 2.8 - - 10.6 - - 87.3 0.7
fus 142 1 3 1 15 1 1 119 2
= 100.0 0.7 2.1 2.1 0.7 10.6 0.7 0.7 83.8 14
f961 RETH-CL(3FRIA)
REChol- (% BREE]
L2olFoL RS R | RIBEE [RENG | FELD |FELER WFhi
2t EEs N T [EREEL |BE5R | ERTE | DESSLLEES L | (REE
Hot= = |ToMELE ot 8o | otz |FEEE
2 1 1616 15 46 23 2 198 12 6 1353 23
100.0 0.9 2.8 14 0.1 12.3 0.7 0.4 83.7 14
e 561 4 17 8 - 64 5 - 477 5
BEMK |7 100.0 0.7 3.0 14 - 11.4 0.9 - 85.0 0.9
Al ik 507 4 12 8 1 69 5 3 416 9
100.0 0.8 24 1.6 0.2 13.6 1.0 0.6 82.1 1.8
- 548 7 17 7 1 65 2 3 460 9
HES 100.0 1.3 3.1 1.3 0.2 11.9 0.4 0.5 83.9 1.6
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HKEHT EREHE. ALY REZE

FonRE

62 HIBDFBETCXEEELEH->TLS(B~4NAR 1
m6M AR, 3ER)

WEDFETCIEFEEM TS (%)

fi63 COMIBTOFETCHL(B~4NAR. 1m6MNAR.3RERE)

=37 S YA LR | EEE

2359 1982 361 16

£ " 100.0 84.0 15.3 0.7
EEE T 124 101 22 1
i 100.0 815 17.7 0.8
SFEFm 162 135 27 -
i 100.0 83.3 16.7 -
P 82 65 16 1
IR 100.0 79.3 19.5 1.2
EEEES 142 122 18 2
i 100.0 85.9 12.7 1.4
SEFI 312 251 59 2
i 100.0 80.4 18.9 0.6
T 246 211 34 1
BEEHE 100.0 85.8 138 0.4
Al 223 187 35 1
BAR 100.0 83.9 157 0.4
135 119 16 -
RET 100.0 88.1 11.9 -
17 101 15 1

/\FEET 100.0 86.3 128 0.9
" 138 119 18 1
ki 100.0 86.2 13.0 07
- 245 203 41 1
100.0 829 16.7 0.4

207 170 34 3

SRR 100.0 82.1 16.4 14
i 226 198 26 2
= 100.0 87.6 15 0.9

fi162 HHDFHT

XEFEEHMOTVS(3~4nAR. 1

meM AR, 3%R)
O FBE CXIEFTEEH->TLS(%)
=37 N IR [AYAV-AE 1103
2359 1982 361 16
£ " 100.0 84.0 15.3 0.7
e 822 674 142 6
BEHR |7 100.0 82.0 17.3 0.7
ol 721 618 100 3
PR 100.0 85.7 13.9 0.4
- 816 690 119 7
HES 100.0 84.6 14.6 0.9

COMBTOFE CH 2L (%]
£ kT3R5 |LZVE [LaERS (LAY | REE
7385 |Bbrn |F
2 1 2359 1512 749 64 18 16
100.0 64.1 31.8 2.7 0.8 0.7
THEFR 124 84 37 2 - 1
i) 100.0 67.7 29.8 1.6 - 0.8
SHEFE 162 89 64 5 3 1
i) 100.0 549 39.5 3.1 1.9 0.6
P 82 51 27 2 1 1
IR 100.0 62.2 32.9 24 12 1.2
SEFER 142 90 45 5 1 1
i) 100.0 63.4 31.7 35 0.7 0.7
SEFI 312 175 15 13 6 3
i) 100.0 56.1 36.9 42 1.9 1.0
T 246 178 62 5 1 -
BEHEX 100.0 72.4 25.2 2.0 0.4 -
Al 223 148 66 7 1 1
BAR 100.0 66.4 29.6 3.1 0.4 0.4
135 94 38 2 1 -
AT 100.0 69.6 28.1 15 0.7 -
17 77 38 - - 2
/\FEHT 100.0 65.8 325 - - 1.7
- 138 92 40 3 2 1
100.0 66.7 29.0 2.2 14 0.7
1 245 150 87 4 2 2
100.0 61.2 355 16 0.8 0.8
207 131 68 5 3
SErET 100.0 63.3 329 24 - 1.4
s 226 153 62 1 - -
= 100.0 67.7 27.4 4.9 - -
63 COMBTHOFECHE(B~4MAR. 1Hm6MAIR. 3%IR)
COMBTOFE CH 2L (%]
£ & T3R5 LAV [LaERS (AT | REE
7585 |Bbrn |
2 1k 2359 1512 749 64 18 16
100.0 64.1 31.8 2.7 0.8 0.7
— 822 489 288 27 11 7
EiEHE |7 100.0 59.5 35.0 3.3 1.3 0.9
Al R 721 497 204 14 3 3
100.0 68.9 28.3 1.9 04 0.4
— 816 526 257 23 4 6
HES 100.0 64.5 31.5 2.8 05 0.7
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KEFh mTROBREOVICET ST 77— AZE KEHIVDRR

11 x f§2-1

BTREOEFZEE—RI-EXZOHE (%]
[FIZEE BIc4~|BIc2~@IS18

2 # |BRTL|5AR~[sARA[EER~|TENEIBLEF Igmy

% T3 [TWd |[thd

+ 425 173 34 13 33 11 20 6

100.0 40.7 8.0 1.3 7.8 26. 1 4.7 1.4

ORI E7 84 13 6 10 3 15 2 -

RS 100.0 57. 1 7.1 11.9 3.6 17.9 2.4 -

B2 — 1 |7 B ET3 T 37 9 6 6 12 1 -
AE L ¢ BAE 100.0 52. 1 12.7 8.5 8.5 16.9 1.4 -
Wz 57 | 13EELET 37 12 7 4 2 1 1 -
x Aoy [BAE 100.0 32.4 18.9 10.8 5.4 29.7 2.7 -
B [167% L E20 55 17 7 6 5 15 3 2
E;o . g R 100.0 30.9 12.7 10.9 9.1 21.3 5.5 3.6
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